



A. R. M. FIRST GRADE COLLEGE

S. Nijalingappa Layout, DAVANGERE-577004, Karnataka State.

E-mail: armfgc.dvg@gmail.com Web: www.ar	nigca	vg.	org
--	-------	-----	-----

ಕ್ರ.ಸಂಖ್ಯೆ : ಎ.ಆರ್.ಎಂ. ಪ್ರ.ದ.ಕಾ/

ದಿನಾಂಕ :.....

ಫೋನ್ : 08192 - 221086

4.2.3 Average Annual Expenditure for Purchase of Books during the 2019-20

Following are the details of the expenditure incurred towards the purchase of books. The relevant bills attached herewith

Sl. No.	Shop Name	Invoice No.	No. of Books	Amount
	2019-20			
1	Girishaila Prakashana, Davangere	150	02	1600
2	Basavakarune Publications, Davangere	047	25	10550
3	Chetana Book House, Davangere	568	42	8225
4	Chethan Book House, Davangere	609	28	5250
5	Mahalaxmi Enterprises (pg)	IN 3059	25	14571
			122	40196

Internal Quality Assurance Cell (IQAC) A.R.M. First Grade College, S.N. Layout, Davanagere-577 004.



Bas	t. D.S. Latha Sava Karune Publications Salabalu Badavane, The Principal		No.	047					
Dav	anagere - 577 005. ARM FG Colleg	Date	1707.2019						
S.No.	Title of the book	Price (Rs.)	Qty.	Amount					
(1)	Income Tasc - I & IL	530=	10	5,300=00					
(2)	Business Taxation	350	15	5,300=00 5,250=00 10550=00					
				10 550 200					
			1						
		Less Di	scount35	3,695=00					
		6,855+0							
Rupees (in words) Six thousand eight									
h	hundred liby live only signature								

Co-ordinator
Internal Quality Assurance Cell (IQAC)
A.R.M. First Grade College,
S.N. Layout, Davanagere-577 004.



ದೂರವಾಣಿ: 6454123, 4250105, 2445494

568

ನಂ.

TIN: 29690108515 C.S.T. 20772944

ಚೇತನ ಬುಕ್ ಹೌಸ್

ರೇಣುಕಾಚಾರ್ಯ ದೇವಸ್ಥಾನದ ರಸ್ತೆ, ಮೈಸೂರು -24 ಶಾಖೆಗಳು: ದಾವಣಗೆರೆ, ಬೆಂಗಳೂರು, ಶಿವಮೊಗ್ಗ. F

ARM fisetgrade collège

Davanagere

	GST No 29AAXPC6914E1ZF #5	ಖುಕ್ ಹೌಸ 8/7, ಅಕ್ಕಮಹಾ ರಾವಣಗೆರೆ–57	ದೇವಿ ರಸ್ತ	1
		4		
S)	Eighty Rupeer only 100 of 15	E HC		
-(1) ·	Six thousand five Hundred	LEGIN	6580=	00
M)	· · · · · · · · · · · · · · · · · · ·	N 20%-	1645-0	
12	Tore [Meharotra]	· ·	8225=	φ¢
		00=00	400 -	0.0
	(Meharotra)	Sea V		
	Income Tax Law & Accounts 5	75:00	545	00
	(B.S.R)	M. A.		200
0	New Venture Creation & Management 1	00:00	1000=	Ф
5		50:00	750=1	0
5	A THE WALL TO STATE OF THE STAT	00:00	1500=	00
	(BSP)	-	4.0.1	
5	Pocinciples & Poracheer of Management	e lee i		00
5	Financial Markets & Services (BSP)	1/	750=0	
5	Pounciples Marketing (B.S.p.)		1000=0	
5	Financial Accounting (BS R) 3	RO-00	1250 = o	_
0	ಪುಸ್ತಕದ ಹೆಸರು ಕಿಂದು ಕ್ರಮಿಸ್ ಸ್ಟ್ರಾನ್ಗಳ ಜನೆಗೆ ಹೆಸರು ಹೆಸರು ಕ್ರಮಿಸಿಗಳು ಪ್ರಾಥಾಣಕ್ಕೆ ಸ್ಟ್ರಾನ್ಗಳ ಜನೆಗಳು ಪ್ರಾಥಾಣಕ್ಕೆ ಪ	ಚೆ ಲೆ 50:	ಒಟ್ಟು ಮೊತ್ತ ರೂ.	ر ا

ಒಮ್ಮೆ ಮಾರಿದ ಪುಸ್ತಕವನ್ನು ಯಾವ ಕಾರಣಕ್ಕೂ ವಾಪಸ್ಸು ಮತ್ತು ಬದಲಾಯಿಸುವುದಿಲ್ಲ.

ಸಹಿ/-

Co-ordinator
Internal Quality Assurance Cell (IQAC)
A.R.M. First Grade College,
S.N. Layout, Davanagere-577 004.



Subject	to	Mysore	Jurisdiction

ದೂರವಾಣಿ: 6454123, 4250105, 2445494

(19)

TIN: 29690108515 C.S.T. 20772944

ಚೇತನ ಬುಕ್ ಹೌಸ್

ರೇಣುಕಾಚಾರ್ಯ ದೇವಸ್ಥಾನದ ರಸ್ತೆ, ಮೈಸೂರು -24 ಶಾಖೆಗಳು : ದಾವಣಗೆರೆ, ಬೆಂಗಳೂರು, ಶಿವಮೊಗ್ಗ.

Poeincipal

A.R.M Jingtgrade College

Davanagere.

ನಂ.	ತಾರೀಖು	A			
ಪ್ರತಿಗಳು	ಪುಸ್ತಕದ ಹೆಸರು		ಬೆಲೆ	ಒಟ್ಟು ಮೊತ್ತ ರೂ.	, ಪೈ
15	Human Resource Manageonent [3.	S. 12 8	0200	400	-00
15	Law & Practice of Barking B.S.		00200	1000	00
15	Market & Cost Benefit Analysis		7 0200	\$50°	00
	(B.S.Ramo			. /	
10	ಭಾರತ ಸಿಕಾಣ ಪುತ್ತು ರಾಜೀಯ	2	50=00	2500	00
	(ಕ್.ಚೆ.ಸುರಣೆ)	3.	22		
,2	อย์. B. อ Question Bank	1	00=00	200	100
1	Manorama Year Book 2020		300=00	300	-00
28			The second	5250	+00
-		1	049 20%	1050	+01
	Four thousand two Hundr	ed		4200	+07
	Rupeex only.	- 191 - L			
			and the second		
		and the second	The bell	r E	
	CLARST No 29AAXPC6914E1ZF				
-	-005LD	ಚೇ	ತನ ಉಕ್ ಕ	⁵⁹ रू (छन्-०स	6)
	al Lax	10 mm	58/7, ಅಕ್ಕವ ದಾವಣಗೆರೆ	ುತಾದೇವಿ ರಸ್ತೆ.	
	PRINCIPAL PRINCIPAL A.R.M. First Grade College		1		, ,
	S. Nijalingappa Lay-out S. Nijalingappa Lay-out Down and and a second				

ಸಹಿ/-

Co-ordinator
Internal Quality Assurance Cell (IQAC)
A.R.M. First Grade College,
S.N. Layout, Davanagere-577 004.





MAHALAXMI ENTERPRISES

Wholesale Book Seller & Library Suppliers P.B.No 5617, 66, 57th 'A' Cross, 6th Main, 4th Block,Rajajinagar,Bangalore - 560010 Phone: 080-23157433,23201967,23147997, 9845176553, mehrsatish@gmail.com PAN: ADYPM5945R GSTIN: 29ADYPM5945R1Z2

THE PRINCIPAL

M/S A.R.M. FIRST GRADE COLLEGE

S.NIJALINGAPPA LAYOUT, DAVANGERE - 577004

KARNATAKA

Ph. 9901697861, 9844828846 Email:riyaz29.md@gmail.com

INVOICE No.: IN3059(19-20)

Date: 18-Mar-2020

Order No. : PI 791 Sent By: BUS G.R./R.R. No. :

Date: 09-Mar-2020 Doc. Through : DIRECT Date: 18-Mar-2020

Weight:

Bundles: 0 Freight: Transport Co.: MAHESH CARGO AND TRAVELS

Bank Details:

HSN Code: 49011010

From: BANGALORE To: DAVANAGERE

FIGHT: BANGALORE TO: DAVANAGERE										
5.1	No.		TITLE	AUTHOR	PUB	QTY	RATE	GROSS	Dis(%)	NET AMT
	4	9788125928416	BUSINESS MATHEMATICS	AJAY SING	VIK	5	₹ 499.00	2495.00	20.00	1,996.00
	2	9789389546835	DIRECT TAXES LAW AND PRACTICE 2020-	21 SINGHANIA	TAX	4	₹ 1,725.00	6900.00	20.00	5,520.00
-	3	9789385965579	INVESTMENT ANALYSIS AND PORTFOLIO MANAGEMENT	CHANDRA	MGH	5	₹ 795.00	3975.00	20.00	3,180.00
1	4	9789325978607	MANAGEMENT INFORMATION SYSTEMS	GOYAL	VIK	2	₹ 499.00	998.00	20.00	798.40
	5	9789386649225	RESEARCH METHODOLOGY METHODS AN TECHNIQUES	ND KOTHARI	NEW	4	₹ 399.00	1596.00	20.00	1,276.80
	6	9788131520383	STRATEGIC MANAGEMENT	HITT/MANIK	CEN	5	₹ 450.00	2250.00	20.00	1,800.00
							14,571.20			
	Total: 25								14,57 1.20	
Conversion Rates: -₹ - 1.00 Rupees: Fourteen Thousand Five Hundred Seventy One Only										
E.	e & (D. E.	Inousand Five number Seventy One on	,		\neg	NET Amou	nt Payable	(₹)	14,571.00
E. & O. E. NET Amount Payable (7) 14,571.00										

Remark:

Terms & Conditions:

- Books once sold to order will not be taken back or exchanged.
 Discrepancies in this bill if any please be brought to our notice within a vertical process.
- No deduction is to be made in this bill without our written confirmation.
- 4 Payment to be made within 45days from the date of this bill, Otherwise 18% interest will be charged
- 5 Certified that the price charged in this bill is in accordance to the price fixed by publishers.

6 All disputes are subject to Bangalore Jurisdiction.

For MAHALAXMI ENTERPRISES

Bank Details : Central Bank of India Branch : Rajajinagar Branch

Acc Name : Mahalaxmi Enterprises Acc no : 1198229640 fsc code : CBIN0281200

Ben **Authorised Signatory**

Prepared By

Checked By

Page No. :- Page 1 of 1

Co-ordinator Internal Quality Assurance Cell (IQAC) A.R.M. First Grade College S.N. Layout, Davanagere-577 004.

